
Resoluções Resoluções

1a série – Ensino Médio – Livro 6 1

ÁLGEBRA

01  a) 10 0 01 10 10
1
2

2= ⇒ = ⇒ = −−, x x x

b) 2 8 2 2
4
9

43
4
3 3= ⇒ = ⇒ =x x x

c) 8
1
4

2 2
3
8

4
3
4 2= 





⇒ = ⇒ = −−
x

x x

d) 0 25 2 2 2 63 2 3, ( )� � � � � ��x
x

x

e) 4
9

1 5
2
3

2
3

2
2

= ⇒ 





= 





⇒ = −
−

, x
x

x

02  a) log
2

3
4

3 2
3
4

1
3

1
1
4

� � � �
�

�
�

�

�
� � � �

b) log
10

1
3

2 10
1
3

1
2

1
1
6

= ⋅ ⋅ =

c) log
3

4
3 3

4
3

− = −

d) log
3

2
3

1 3
2
3

− = −

e) log ( )
3

3
2

1
2

3
3
2

2 3
�

� � � � �

03 E
log

( )

( )

( )

2 3

2

2

2 2

144

2 3 144

4 3 12

12 12

12 12
2

2

4

�

�

� �

�

� � �

�

x

x

x

x

x

x

x

04  a) log ,

log
,

100

1
2

3
1
2

2
3

0 5

3

3

0 1
1

10
100 10 10

3
4

8

� � �
�
�

�
�
� � � � � � �

�

�
x x

y

x x

�� � � � � � �

� � � � �
� �

� �

�
8 0 5 2 2

9
2

3
4

9
2

3 18
4

21
4

3
3
2 3, y

y

y

x y

01  a) log2 2
–1 = –1 d) log2–1 25 = –5

b) log4 1 = 0 e) log
5
2

4
2

2

5
2

4
1
2

2






−







= ⋅ −





= −

c) log1
5

1
5

1=

02 a) x = =5 533

b) x = =−10
1

1000
3

c) x + 1 = 8 ⇒ x = 7

d) 10 102= ⇒ =x x

e) 16 8 23 3= ⇒ =x x

f) 5 = x – 1 ⇒ x = 6

03  a) log2 (log3 3
4) = log2 4 = 2

b) log5 [log3 (log4  4
3)] = log5 (log3 3) = log5 1 = 0

04  Considerando log5 125 = x, tem-se:
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06  x2 – 5x + 6 > 0 ⇒ x < 2 ou x > 3 ⇒ 1 ≠ x > 0

Interseção ⇒ D = {x ∈ R | 0 < x < 1 ou 1 < x < 2 ou x > 3}
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